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Two word verbs
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Two word verbs — also known as expressions — are expressions made up of a
verb and another morpheme whose meanings are not denotated by the
meanings of the parts composing them . Regarding their second part , these
expressions are classified as “seperatable” and “unseperatable” expressions .

ALl Chja Sy g Jad oy W quS i Cpl g o G pualis 1 adi Naa (sl cuS i — il
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A - Seperatable expressions: These expressions are composed of a verb and a
preposition between which no noun phrase can stand.

Examples: look for (RS sk look at (S oS

48 IRT Lo gas AS — 4Bl o a Sy 5 Jad G I QS ol 1 Al g s S - @
AR 108 Ll (e AL g5 e dgdaa e W 0 Sl g o0 JaSidi — a1

B — Unseperatable expressions: These expressions are composed of a verb and a
particle between which a limited noun phrase can stand.

Examples: puton (&g write down (g
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Intensifiers
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Intensifiers are the words accompanying adverbs and adjectives to intensify
their degrees. Intensifiers are not used without adverb or adjective.The most
functional intensifiers are :

So

Osh Cihia A4S e gl 59 8 ) Adud O 43 1 s AalS gl | ) M AR AWIS () (s
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somany / somuch / solittle / sofew

This intensifier is used with the adjectives which are not accompanied by a
noun. The sentence in which “so” is used as an intensifier is accompanied by a
complement clause as the reason of intensification.

Example: The child is so young that he can not talk .

Cibia ) Jd G gd O 38 K 18 Jaa and b o) et Cilia (51 AalS ) A S Gy gea oz SN
JEEYRTPES

Note: “So” if used with an adjective accompanied by a noun , will be located
right before the adjective .

Example: sogood abook / sosweetan apple



Such
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eg. suchaman / suchanapple

This intensifier is used with the adjective accompanied by a noun.It can also be
used with a noun alone.A sentence in which “such” is used is accompanied by a
complement clause as the reason of intensification.

Example: He is such a literated man that you can ask him anything you like.

Too
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The word means “quite excessive” which intensifies the adverb or the adjective
to a degree at which the verb succeeding it in the form of an infinitive can not
take place. The word also known as a negative intensifier.

Example: The child is too young to talk .
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Note: If the intensified adverb or adjective is supposed to restrict the
nonoccurance of the verb for a particular noun, the noun is inserted in a
prepositional phrase of “for”, then inserted before the infinitive. The object of
the sentence is not allowed to be inserted after the infinitive as it is introduced
by the occurance of the subject at the very beginning of the sentence.

Example: The shoes are too small for Jack to wear .

Enough
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The word means “sufficient”, and when standing after an adverb or an
adjective, the degree of the preceding modifier is intensified to the level at
which the verb succeeding it in the form of an infinitive can take place. The
word is known as a positive intensifier.

Example: The child is old enough to go to school.

QYQ,AJMQMQUJJSQM\QMNwq;aqjquﬁéJMJaww

This word, when used before a noun alone, is considered an adjective .

Example: We have enough money to buy that car .
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Note: If the intensified adverb or adjective is supposed to restrict the occurance
of the verb for a particular noun, the noun is inserted in a prepositional phrase
of “for”, then inserted before the infinitive. The object of the sentence is not
allowed to be inserted after the infinitive as it is introduced by the occurance of
the subject at the very beginning of the sentence.

Example: The shoes are large enough for the men to wear.

Still
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The word denotes “as before” representing the feature in which the action
taking place in the past happens in the present without any stop. The word
stands before verbs either in the form of positive or negative.

Examples: The woman still lives in that old house .

They still don’t like to leave the city.

Any more
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The expression denotes “no longer” representing a verb which took place in the

past but no longer takes place in the present .This expression is used at the very
end of the verb phrases in negative sentences.

Example: | don’t smoke any more . ( ........... | smoked before . )



Already
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The word denotes “before” implying the occurance of a verb before the
expected time. It is used at the very end of the verb phrases or before the main
verb (between the auxiliary and the verb) in positive sentences .

Example: We have finished their homework already.

They already have an expensive car.

Yet
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The word denotes “not till now”. It implies that the action has not taken place
by the time expected. Being used in negative sentences, and sometimes in
introgative sentences, it is placed at the very end of the verb phrase, and
sometimes in the expression “as yet”at the very beginning of the sentence.

Examples: They haven’t arrived yet .

As yet , they have not replied our application .

Used to

S o g S alad) VY jiaa g Ady) G GRS 18 L g ol MBALL" S T Gl (e
Agd e aladl 80 Ja gl gd Lal s e alad) Citle IS Ay A3EXK (la ) o 4S



The expression which stands before the root of an infinitive implies an action
which took place as a habit in the past but now does not go on.

Example: He used to smoke cigarettes. (......... He doesn’t smoke cigarettes
now. )

Be used to
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This expression denotes “a current habit” of doing a rutine action. The verb
after this expression is used in “ing” form.

Example: | am used to getting up early in the morning.

Get used to
sal 3 Ol 5 019y B89 AS 30 S alad) ju iV g il M S e ™ G Sl asgde
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This expression implies a habit which does not currently exist but is supposed to

take place in future. The verb after this expression is used in the form of gerund
(“ing” form).

Example: You should get used to getting up early.

Had better
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The expression means “it’s better that”. It stands before the root of an infinitive
.The components composing this expression are unseperatable, in other words,
the expression is fixed with a definit meaning.

Example: You had better answer his question .

Would rather
Jdaa g Ay Lok 910 Lol san sl 09 8 L ok AS el M g A S S5 () o sgda
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The denotative meaning of the expression is “to prefer” which stands either
with a noun phrase (with the relevant preposition “to”) or an infinitive without
to.

Examples: | would rather tea to coffee.

I would rather go on a picnic.

Present and Past participles
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Present and past participles are those participles whose meanings basically
originate in verbs and their existence somehow depends on the occurance of
particular verbs.
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The wolf terrifies the children.
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In this sentence, “the wolf” is the subject, “the children” is the object and
“terrifies” is the verb .
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Present participle : infinitive root + ing

Past participle(regular verbs) : infinitive root + ed

The feature appearing in the subject (due to the verb-terrify) is termed present
participle (which is made out of the root of the verb attached with the suffix
“ing”) and the feature appearing in the object (due to the influence of the verb -
terrify)is termed past participle ( which is made out of the root of the verb
attached with the suffix “ed “ for the regular verbs ).

The wolf is terrifying.
gl g £ 8
The children are terrified.
A 0 Cudia g W Aa
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Most of the times , the subject of the past participle can be mentioned along
with the past participle by the help of a particular preposition .

The children are terrified of the wolf.

S Gdia g K S L Ay

Reduction of complement clauses to phrases
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Clauses whose tenses are either past continuous or past perfect can be reduced
to a phrase as the following:
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A - Clauses with past continuous tenses : In case that the subjects of both
clauses are the same ,the conjunction of the dependent clause along with the
subject and the verb “be” are deleted , the remaining is the phrase with the
same meaning and the same application as the relevant dependent clause .

Example: While | was walking in the park, | saw my friend .

Clause reduced to a phrase: Walking in the park, | saw my friend .
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B- Clauses with past perfect tense : In case that the subjects of both clauses are
the same , the conjunction of the dependent clause along with the subject are
deleted and the auxiliary “had” changes to “having” preceding the past
participle like the following example :

After he had learned English , he went to England .

Clause reduced to a phrase : Having learned English , he went to England .

Perceptive verbs
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Perceptive verbs are that group of which the subject perceives with his / her
senses .
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Verbs used after perceptive verbs appear in two forms of infinitive without “to”
and continuous form with “ing” suffix representing two different meanings as
the following :
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A- Infinitive without “to” after the perceptive verbs: This feature denotes that
the subject has perceived the occurance of the verb from the very beginning .

Example: | was in the bus stop . Mr Brown left the shop. | saw him.

I saw Mr brown leave the shop.
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B- The continuous form of the verb after the perceptive verbs : This feature
denotes that the subject has perceived the occurance of the verb not from the
beginning , but while it was going on .

Example : Mr Brown was waiting for the bus. |saw him.

I saw Mr Brown waiting for the bus .

Ora (SaS sy Jad
Modal auxiliaries
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Modals denote those auxilaries which stand along with main verbs to influence
them with the particular meanings they have .They are directly dependent on
the main verbs and can not occur in a complete sentence by themselves.
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The most usual auxilaries are :

will/ would / shall/ should/can / could / may / might / must / oughtto

pALT [ LA [ oa [ AS LA [ CFiaadl 5 ] (e 88 fiaad (Scanfciad (Scan [ [ 3
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Main verbs stand in two forms after the modal auxilaries as the following :
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A - Infinitive without “to” : Regarding the meaning of the modal, the verb
represents a future tense.

Examples : They will apply for the visa .
L SR A ) g Gl g3 a Lgdl
They would ask you to help them.
S eSS U A ) iy 65 ) L Ll
We shall finish it within two days.
A8 Al g alad Gy 98 e il 1) Of L
I should complete the painting.
LS JalS 1y S O Al O,
| can lift that heavy box.
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He could pass his exams.
a9 Il QAT 3 Gl g5 )
He can sit over there.
by Ll (309 0 5ka) XisS e
You could leave the class.
v 0 O 0SS ) (S o la) sl 5 e Ledi
He may answer it .
L3 Al ¢ A (202 e la)) ) (Saa )
She might take another piece.
AN S0 (6 AT Oy (N o)) (Sean )
You must obey the rules.
LS g g @ Ra ) Al Ladi
He ought to return the book soon .
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B- Modals with the perfect form of the verbs denote the past tense like the
followings :

Examples: | will have finished the job by tomorrow.
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He would have left there.
WS e S )l
We shall have arrived by tomorrow this time.
) Oy adga b 13 8
We should have left there earlier.
L aS e S5 1 Ll g (a1
He can have paid the bill.
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She could have forgotten the key..
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They may have done it.
UL 0313 alad) | ¢l (Saa LT (Sl )
They might have broken it.
AL ALS 1y OF ) San g (Jaial)
He must have visited him before.
il 03 )8 B 15 gl 8wy gh(Jabsina )
You ought to have cleaned it .

(SRS o Sl )y ) il (a13)



‘;JJJAJA s ) g Adaa (als

Reduction of relative clauses
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Relative clauses initiated in a subjective relative pronoun can be reduced to a
phrase if they are in one of the following conditions :
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A-The relative pronoun is succeeded by “be”and a verb attached with the
suffix“ing” .

AL o) pad (A srde il 5 (g Jad Ly (Jage ek -
B-The relative pronoun is succeeded by “be” and a past participle .
DL o) pah el 09 8 S 9 g JRB L Agaga paia g
C- The relative pronoun is succeeded by “be” and a noun phrase .
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D- The relative pronoun along with verb : In this case the verb is used in grund
form after the relative pronoun is omitted.

Examples: The man who is speaking English.................. The man speaking
English...

The man who was seen in the forest............... The man seen in the forest...
The man who is at the door .........ccceeeeeeunnns The man at the door ..........

In either of the conditions above , the relative pronoun is deleted along with the
verb “be” .

A man that repairs bicycles .................. A man repairing bicycles............

a0l g8 a1y Al laad Lual ol Adaa L Jold Blad ) AS (o) Al 9 sW )9 Adan
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Dependent clauses whose subject is the same as the main clause can be reduced
to a phrase by omitting the correlative conjunction .

Example (a) : While | was walking in the park, | saw them.
Walking in the park, | saw them.
Example (b) : After | had written the book, | revised it .

Having written the letter, | revised it .

Jsgaa 4y
Passive voice
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Passive voice refers to the sentences in which the subject is not mentioned or if
itis, it is not located in the subject constituent.Deep structure of every passive
sentence is an active sentence in which there exist at least a subject , an object
and a transitive verb .The number of the passive sentences out of an active
sentence depends on the number of the objects in the sentence; in English , the
number of the objects comes to two , a direct object and an indirect object .

Jogae (s Aday il Al 8

The process of making passive voice
Pl ) sk A b (ilaa aglra gl Adaa ) Jsgae ol Alax il

The procedur to make passive sentences out of active sentences is as the
following :
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\- Identification of the components of the sentence, subject , object (direct and
indirect) , verb and the tense of the verb , adverb of quality

Y- Substitution of the object for the subject in its subjective case

Y- Inflection of the verb “be” according to the subject and the tense of the active
sentence

Y- Application of the past participle of the main verb

O- To mention the agent, the insertion of the subject in object form succeeding
with “by”

Note : In passive sentences ,the adverb of quality preferably precedes the past
participle.

Example : He will give her the flower politely .
The flower will be politely given to her by him .

She will be politely given the flower (by him) .

B b e
Conditional sentences
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Conditional sentences are the group of sentences in which the occurance of a
verb depends on the occurance of another verb .Every conditional sentence is
composed of two clauses ,a dependent clause and a main clause which can be
interplaced .
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According to the possibility of occurance, conditional sentences are categorized
into three groups as the following :

\- Conditionals type one : possible
Y- Conditionals type two : probable

Y- Conditionals type three : impossible
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Conditionals type one : This type of conditionals deal with future in which the
possibility of the occurance of the verb in the main clause is high .In this type,
the tense of the verb in the dependent clause is”simple present”, and the tense
of the verb in the main clause is “simple future” .

Note : In the conditionals dealing with regular occasions , the verb tense in both
clauses is “simple present”.

Examples : If you study your lessons , you will pass your tests next year.

If you heat water , it boils .

AR



LSl U3 Jad ol Jlaial g 4ddla o Jla e o W il J) ddud gl 1 agd £ 68 o hd
AJA;MOLAJJ"DJMgmg"m.ﬁ&\)éhﬁgDJU‘\J.A@MQLAJ_G\u\dﬁjé)%
v "béhgmg oAl

Conditionals type two : This type of conditionals deal with present tense in
which the probability of the occurance of the verb in the main clause is too little
. In this type, the tense of the verb in the dependent clause is “simple past” and
the tense of the verb in the main clause is “simple future in past”.”Were”is
preferably used for all subjects in this type of conditionals.

Example : If you studied your lessons now , you would pass your tests .

If | were you, | would ask him to come .
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Conditionals type three : This type of conditionals deal with past tense in which
there is no possibility for the verbs of the clauses to occur . In this type , the
tense of the verb in the dependent clause is “past perfect”, and the tense of the
verb in the main clause is “perfect future in past” .

Example : If you had studied your lessons last year , you would have passed
your tests .
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Note )- In negative clauses, “if” can be substituted by “unless” in case that the
clause changes to positive. “Unless” should be used only at the beginning of

positive clauses.
Example: You will not pass your tests if you don’t study your lessons.

You will not pass your tests unless you study your tests.
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NoteY- In dependent clauses of conditionals type three, “had” can be placed at
the very beginning of the clause to delete “if” .

Example: If you had studied your lessons , you would have passed your tests.

Had you studied your lessons , you would have passed your tests .
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NoteY- There’s a unique type of the conditionals in which the “if” clause is in the
past perfect, while the main clause is in the simple future in past . This type,too,
stands in the “impossible” type and is titled as “composite conditionals”.

Example: If | had not spent the money, | could buy the bicycle now.

Wish
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Verbs after “wish” prove a condition of very slight probability or impossibility to
occur .

A-When used for present tense, the verb in the sentence succeeding it is in
“simple past” to prove a very slight probability for the occurance of the verb .

Example : | wish they brought the box with them .

Note : When necessary ,“were” is preferably used for all subjects in this type .

Example: | wish she were here to help us .
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B- When used for past tense, the verb in the sentence succeeding it is in “past
perfect” to prove the impossibility of occurance :

Example : | wish | had arrived a little later .
g e Gl ) Jle alilad sl e o s s sl ) 1 ST
Note : Wish can be used for very slight probable occurance of the actions in the

future using a verb in the “future in past” tense :

Example : |1 wish you would slow down .
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Causative voice
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Causitive sentences are the group of sentences in which the subject of the
sentence is not the actual doer of the verb ; the verb whose effect of occurance
is up to the subject is in fact done by someone other than the subject of the
sentence .
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Sentences in causative voice are categorized in two groups of “passive” and
"active” .
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A — Passive causitive : In this type , the actual doer of the verb is not mentioned
,in fact , the receiver of the effect of the occurance of the verb is mentioned
only . The rule to make passive causitives is as the following example:

Sentence: The barber cuts my hair every month. :
Passive causative: A= | have my hair cut every month .

B= | get my hair cut evry month.

Note : The verb “have” in passive causitives is a main verb , and the other verb
of the sentence is used in past participle form .
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B — Active causitives : In this type of causitives , the actual doer of the verb is
mentioned after the causative verb in the object form . Here, there use of
causative verbs “get” and “have” differ grammatically :

\- After “ have” infinitive without to is used .
Y- After “get” infinitive with to is used .
Examples : | have the barber cut my hair every month .

| get the barber to cut my hair every month .
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Reported speech
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Reported speech denotes the statements through which the speech of someone
else is stated ; in other words, what is stated is not the speech of the one saying
it.
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Statements of reported speech are themselves composed of two smaller
sentences :

\- Reporter’s sentence

Y- Reported sentence
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Reported speech sentences are categorized into “direct” and “indirect” types .
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A - Direct speech : In this type , the reported sentence directly and with no
change in the form or intonation , is reported . The reported sentence , along
with its punctuations is located in “quotation marks” . When the subject in the
“report” sentence is a direct noun and not a pronoun, and the “report sentence
stands after the “reported” semtence , the verb of the “report” sentence may
stand before the subject .

Example: The man said, “ | want you to help me with my problem in that
company . “

“I want you to help me with my problem in that company . “ said the man .
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B — Indirect speech : In this type of reported speech, the essence of the report,
and not exactly the words, are reported .This type necessitates the conversion
of two sentences into two clauses, in which the “report” stands as the main
clause and the “reported” as the dependent, in which “reported”
grammatically and linguisticly proves the state of being under the domination of
the main clause,”report” .
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To change a direct speech into an indirect speech , the type of the “reported”
sentence is of major appreciation .
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Types or “report” sentences:
\- imperative
Y- simple statement

Y- question ( simple or “wh” question )
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Type one —Imperative : In this type, the verb of the imperative sentence is used
as infinitive with “to” ,while “please” is ignored . If the imperative is negative ,
“not” is inserted right before the infinitive . Imperative or request verbs such as
“tell” ,“order” or “ask” are preferably substituted for the verb in “report”
sentence along with an object due to the addressee of the imperative verb .

The man said , “ Leave the room immediately! “
The man told them to leave the room immediately .
She said , “ Please don’t answer the questions hurriedly . “

She asked him not to answer the questions hurriedly .
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Type two — Simple statement : In this type , the “reported” sentence acts as a
dependent clause and is adapted to the main clause -“report” sentence - in all
aspects including tense noun phrases ( if they are the same ), place and time
adverbs . Tense adaptiaton normally takes place when the verb in the “report”
sentence is in the past, however , if it is in a tense other than the group of the
past tense , no adaptation in the tense of the dependent clause - “reported”
sentence — takes place .

Examples:
He said , “ | want you to help me with my problem in that company today . “

He said that he wanted her to help him with his problem in the company that
day.

q



They said, “We will go to visit those beautiful places in that city tomorrow. “

They said that they would go to visit the beautiful places in the city the next
day.

You said , “ | spoke to my brother here yesterday . “
You said that you had spoken to your brother there the previous day .
She says , “ We can stay with her until he comes back . “

She says that we can stay with her until he comes back .
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Type three — Question : This category is itself subdivided into two subcategories

A - Simple questions : In this group “reported” sentence is first changed into a
simple statement , then undergoes the adaptations right mentioned for the
second type . Either the word “if”or “weather” is used at the beginning of the
dependent clause to link it to the main clause .”Ask”along with a relevant object
is used in the main clause of this type .

Example : She said, “ Do you like to stay in my house for a longer time ?”

She asked me whether / if | liked to stay in her house for a longer time .
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B- “Wh” questions : The procedure to make indirect speech out of “wh”
guestions is the same as simple questions, the difference is in the relative ; in
this type , the “wh” word acts as a the relative .
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Example: He said. “Who do you prefer to visit tomorrow ? “

He asked me who | preferred to visit the following day .
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Infered indirect speech : Another type of indirect speech is practically used in
discourse in which the meaning of the “reported” sentence is combined with
what the reporter has grasped from the “reported” sentence .

Examples: He says, “You had better agree with them. “
He suggests me to agree with them.
She said, “You should first get a ticket! “

She ordered me to get a ticket first.
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